
 
 

 

Answer to Question #83933 – Math – Trigonometry 

Question 

 

1. Express cos4tita in terms of powers of  

cos tita 

2. Given that sin tita=-3/5 and cos alpha=-2/5. Find sin(A+B) if 1. tita and alpha are acute 

2. tita is acute and alpha is obtuse. 

Solution 

1. We know that   2cos2 2cos 1 = −  
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                           = 4 22(4cos 4cos 1) 1 − + −  

                           = 4 28cos 8cos 1 − +                     

2.    Given 
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CASE I : and  are acute then 
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CASE II :  is acute   and  is obtuse  then 
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